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SOCIAL MEDICINE & COMMUNITY HEALTH
Paper - 11
Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

1.  “Since both in importance and in 5.
time health precedes, disease, so we
aught to consider first how health
may be preserved and then how one
may best cure the disease” is stated

Variation in two variables with
different units of measurement data
can be compared by

(A) Variance

by (B) Standard Deviation
(A) Galen (B) Hippocrates (C) Mean Deviation
(C) Atraya (D) Avicenna (D) Coefficient of variation

2. The following indices are used for

measuring disability except 6.  Trickling filter is used in

(A) Sullivan’s Index (A) primary treatment of sewage
(B) HALE (Health Adjusted Life (B) secondary treatment of sewage
Expectancy) (C) oxidation pond
(C) PQLI (Physical Quality of Life (D) sewage farming
Index)
(D) DALY (Disability Adjusted ) )
Life Years) 7. Biochemical = Oxygen  Demand
(BOD) is determined by
3.  The term family size refers to (A) Oxygen content
(A) Total number of children a (B) Algae content in water
woman has given birth™o at a (C) Organic matter and bacteria

given point in time.
(D) Agricultural fertilizer content

(B) Total number of female i
In water

children born to a woman.

(C) Total number of male children

8.  Thickness of lead apron to prevent
born to a woman.

radiation exposure is
(A) 0.1 mm (B) 0.5 mm
(©) 1.0 mm (D) 2.0 mm.

(D) Total number of persons to a
nuclear family.

4. In order to achieve NRR = 1 the
percentage of eligible couples

practising family planning method 9. WHO' R'eferen'ce‘ Centre for air
should be pollution in India is in

(A) 40 (B) 50 (A) Hyderabad (B) Mumbai
(C) 60 (D) 70 (C)  Delhi (D)  Nagpur
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TR Aty U AnieTies e

AT - 11
AT : T YU § U (50) Tg-Tohedid U & | Ucdeh U9 o & (2) 37k § | |t Ul o TR

1.

T |

“Hed 3T FHTeT SHT gfeedt | Ffeh w@ree
T ¥ Ugel 37T &, T Teet 86 39
T W foAR AT AT T @ Fi
T8I Y =l ST 3R ThY 30 R Toh I &
TR ! el G e | TE HUE

(A) TR (B) Teuihad T
(C) I (D) U=

fr=fetiaa gas § @ e fosmetian

HIO | 3UFRT &l AT St ?

(A) Tellarg T

(B) & (4 UgTRE AR
TR

(C) degue.eE. (Tieher safeet

3T TEH o)

(D) <ot (feuufafedt Ugsde o
)

YRER-3TFR | e &

(A) TR it = Tt et forg R e
] ol o feaT e |

(B) Tl S W 3= @l &l 5= |

(C) Toralt mieT & 301 qeft gov-a=d |

(D) frdt HspE URAR (R
HTHeAT) T et AT hl ST |

NRR = 1 U 3 o fow aRem s
TS P A H AW S+ AFT I h
THTCTSTel & T 18T

(A) 40 B) 50
(©) 60 (D) 70

foreROT 3TeTT-3eT |1 TohIEal & g =W

(A) ToeROTY |

(B) WM age=d |
(C) wrea faae i g |
(D) fo=RoT TUTiR ¥ |

forehferT fthea ot Wi feha ST &
(A) TS T WATHE AT

(B) oEdHe  (FeeT) @ fgdiaw
e

(C) SiiRAtuT Hg
(D) afecHet Bt

SeR@EeE IS HAT T T
BT

(A) RIS 3ERT |

(B) STcT | SraTeT 3797 ERT |

(C) 9 U1y 3R IR gRT |

(D) UM H 3 & FENT |

TaTeRToT 3FTERUT ek o fetu (A oite
TS =l HIeTE Bl &
(A) 0.1 mm
(©) 1.0mm

(B) 0.5mm
(D) 2.0 mm

IRA ¥ 91g UgNUT % foiu fave w@mee

e Fl Miee g &
(A) TERH (B) g=Ed
(C) Tt d (D) AR H
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10. Soiling index is an indicator of 15. The colour of the bag used for
g
(A) Air pollution human anatomical waste disposal is
P | (A) Red (B) Yellow
(B) Water pollution (C) Black (D) Blue
(C) Soil pollution
. . 16. Progressive Massive Fibrosis (PMF)
(D) Noise pollution is a lung condition seen in
(A) Silicosis (B) Anthracosis
11. Venturimeter is used for (C) Bagasosis (D) Stannosis
(A) l\{[easurnzlgf‘llt) ed resistance in 17. The best method of teaching rural
SIOW sand Hiter. population about ORS is
(B) Measuring air velocity. (A) Demonstration
(C) Measuring amount of chlorine (B)  Lecture
required for chlorination. (C)  Role play
D) Flash card
(D) Measuring amount of observed D) ash cat
diation.
raciation 18. Highest unmet need for family
planning in women below 25 years
12. ‘Ideal contraceptive’ should not have of age is for ‘
the following characteristic : (A)  Limiting the births
. . (B) Treatment of complications of
(A) Safe and inexpensive Contraceptive Methods
(B) Irreversible (C) Spacing the births
(C) Independent of coitus (D) Delaying the first pregnancy
(D) Doe§ ‘not‘ require frequent 19. Sullage is
administration (A) liquid excreta.
13. ‘Management by exception’ relates (B) byp roduct of chemical
o industry.
(C) waste water from an industry.
(A) Personal Management (D) waste water from kitchen.
(B) Material Management
) 20. The reason why filarias causes small
(€) Time Management scale epidemics is the following
(D) Finance Management except
(A) many drugs are available for
14. Any phenomenon that has potential B t;eatment‘of glarlamst ltip]
to cause disruption or damage to (B) t ehp a‘rasne 0es Ot Multiply
people and their environment is it gmsegt vector.
called (C) the infective larvae do not
‘ multiply in the human host.
(A) Disaster (B) Hazard (D) the lifecycle of the parasite is
(C) Calamity (D) Catastrophe relatively long — 15 years.
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10.

11.

12.

13.

14.

TSN 3o gaeh §
(A) ST UGEIT =
(B) STeT WgHUT
(C) =T HgHOT T
(D) IR TGHOT T

AR 1 AT TRl STt &

(A) TigH A e ° FER-UaR
T % e |

(B) 9Tg-aT H9 % T |

(C) FARIIHUT o feTu STufetd seai
! YT /IO o [T |

(D) et TafehoT sl e He & T |

arest MRS | fefafiad 7 9 we

ot oot et gt =en ?

(A) RIEF 3R gt

(B)  SFIcHHvIE

(C) HYA % U TSTHehT SUFRT 3TufeTe
T8

(D) T IR-9R SUANT &l ST =
El

(A) ke YeeE
(B) sEWEETH
(C) T veeT d
(D) foavee

ST HeAT @M W |le AT STET gger
TR &, 39 Fed ©

(A)  fomm (o)
(B) W (8%)

(C) ot (shetfireh)
(D) el (i)

20.

e IR 38w =FaeEn & Huem &

foTu 57 <hT o1 SRINT TR ST € SR
TTEATE
(A) e (B) e
(C) T (D) e

. Uiitge Atee et (PMF) %g
I T M E ST @ | el €
(A) TEfcrRrad o
(B) UHIEE H
(C) St o
(D) wAEEH

. 91 Gfledt (ORS) & SR H 7T
;W@Taﬁﬁﬁﬁ?ﬁﬁﬁﬂé@r%u@%
(A) Tree=
(B) =A™=

(C) TrEIHT (I )
(D) VRS T (AT FTS)

. 2599 § %A Mg FI Aleotall H IRaR-

ISt sTevaehdr, St oot A% g

TR T, A AT ?

(A) ST ! WHT HET |

(B) THREE ugiaal & Iusdl H
SR |

(C) ST % &g 37T T |

(D) UEel SR TYROT H S AT |

. Ao SAE

(A) 9 HA-TH

(B) TR STRT T TSR
(C) Tl ST T IS STeA
(D) ™EE F 3D ST

FEART B¢ TR H TWEER ¢ | A

TS FB FRU T ME | 3985 9§ S @0

THROT AT & ?

(A) TRARAT & TAS & ol 3H
ST U § |

(B) T WSl e Hie H ool
W ot et e |

(C) TshHl od B | oSl ¥ Hafed
Tl &l |

(D) 39 TSI T SAIa--o5h STURTH
T — 15 9T ¢ |
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21.

Demography is a study of
(A) old age

(B) insects causing disease
(C) population

(D) nutritional habits

Question Nos. 26 to 32 consists of
matching item. This consists of two
lists of statements, terms or symbols
and the candidate has to match an
item in one list with item in the
other.

26. List - 1 List - 11
(Levels of
22. Risk factor for cancer is Prevention) (Example)
(A) Tick Bite (a) Primordial (i) Individual
and mass
(B) Multiple sex partners education
(C) Solar radiation (b) Primary (ii) Small
) reduction in
(D) Lack of health services average
population
blood
23. Incidence of a disease is related to pressure
(A) new cases (c) Secondary  (iii) Limit the
disability
(B) old cases (d) Tertiary (iv) Treatment of
(C) recurrent cases disease
(D) chronic cases Code :
@ b © @
(A @ @Gy @v) (i)
24. Toxoids are used as immunising B) Gy @) Gv) @
agent in (©) (i) (@v) (1) (i)
(A) TInfluenza (D) Gv) (1 (@G (i)
(B)  Diphtheria 2. List-1I List - II

25.

(C) Yellow fever
(D) Rubella

Which one of these diseases 1is
covered under International Health
Regulation Act ?

(A) Tuberculosis
(B) HIV/AIDS
(C) Poliomylitis

Yellow Fever

(Screening test)
(a) HIV/AIDS

(b) Diabetes
Mellitus

(c) Cataract (i11) Middle aged
(d) Cerebral palsy (iv) Infancy
Code :
@ @® (© (@
A (@ @G (@) (@1v)
B) @ ai) @) (@Gv)
© @) (@Gv) (@) (@
(D) () @Gv) @) @O

(Group)
(1) Pregnancy
(i1) Elderly
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21.

22,

23.

24.

25.

SRt fasm (fermme) sreaaa &
(A) e

(B) IZl ot a5 ¥ BH TTel SHIREr
HT

(C) SHE=ATH
(D) WY St =T

HER H TR o R &

(A) TemHFRA

(B) &d @Il & F--Heie T
(C) Wr-fafezor

(D) T GieTemaT &l 31T

foralt AR % B o1 Ty &

(A) UIRE

(B) X et |

(C) IR-9R 37 dret AT &
(D) SIEehTT § Tt 377 T8 AT |

frferfaa & @ fop st & TT-ufeRe
gﬁ%ﬁ%wmwmm
(A) TS

(B) Tewditan

(C) Il e

(D) &l

frfefad 7 @ A @ TER SR

?@zr ot etfatTam & Siaera Sfet
0

(A)

(B) TH.IMEA./USH

(C) ufeEEAReT

(D) T WeR

26.

27.

T 9. 26 | 32 w1 GaY gHfGT H
et FRT | & | 3HH Ferdet st &1 gret
US A7 Uelieh & | 3Tel Sl g1 o AT

1 gei-11 1 7T & G HATE |
et - I e - 11
(Fawor =) (3TTET)
(a) T FERDT (i) Safes T
HTHeeh ToreqoT
(b) vt (i) 3fEe SHEE
o & T o
AT Gt ST
OR:siRE (iii) STEmAT W
e T AT
(d) TR (iv) T T STEAR
e
He
@ b © @@

A @ () @[v) (i)
B) () (i) @[Gv) (1)
© @i @Gv) (@) (i)
D) Gv) (@) @G (i)

et - I e - 11
(BT 22) (V7E)
(a) TA.STRAL/TSH (i) TR
(b) TARET (i) TS

nfeteq

(c) AifqaTeg (iii) TeEa
(d) ARTSRIT TET  (iv) SreTaTeT
e
(@ () (© (@
(A) () () (i) (@iv)
B) () (i) @) (@{v)
(©) (i) (v) di) ()
(D) (i) (v) @) ()
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28. List -1
(Disease)

(a) Lung Cancer

(b) Malaria
(c) Tetanus

List — 11
(Occurrence)
(1) Epidemic
(i) Endemic
(ii1) Sporadic

(d) Haemorrhagic (iv) Pandemic

Conjunctivitis
Code :
(@ (b)
A @ >
(B) (i) (i)

(C) (@v) (i)
(D) (ii) (v)

29. List -1
(Body Weight
Indicators)
(a) Body mass

index
(b) Broca
index
(c) Corpulence
index
(d) Ponderal
index
Code :
(@ (b)
(A) (i) (i)
B) () (@Gv)

(C) (i) (@v)
(D) (@v) (i)

30. List -1
(Family cycle)

(a) Formation

() ()
(ii1) (iv)
(iv) @
i O
(H ()
List - 11
(Formula)

(1) Height(cms)/

\3/Body wt. kg.
(1)) Weight in kg /
Height(cms)?
(i11) Height (cms) -
100
(iv) Actual wt./
Desirable wt.

(© ()
@iv) (@)
(i) (iii)
(1) (i)
(i) @
List - II
(Beginning of
Phase)

(i) Birth of 1¥ child.

31. List -1 List - 11
Measurement of .
( Light) (Unit)
(a) Brightness (i) Candella
(b) Flow (i) Lumen
(c) Light reaching  (iii) Lux
surface
(d) Light remitted  (iv) Lambert
by surface
Code :
@ ® (© (@
A (@ @G (@) (@1v)
B) ) @ @) (@1v)
© @ @Gv) @ @O
D) @ @Gv) @O (1)
32. List -1 List - 11
(Carcinogen) (Occupation)
(a) Arsenic (1) Combustion

(b) Asphalt

(c) Soot
(d) Coal
product

Code :

(@ (b)
(A) (1) (i)
B) Gv) (@
(©) () (@iv)
D) Gv) (@

room worker
(i1) Printer
(i11) Gardener
(iv) Road
construction
worker

(© @
@ Gv)
(i) ()
() @)
(i) (i)

33. Identify correct ascending order of
the incidence of cancer in different
organs of the body in Indian females.

(ii) 1* child leaves
home.
(iii) 1* spouse dies.

(b) Extension

(c) Contraction

(d) Dissolution  (iv) Marriage. (A) ](;;fez:g;,' Corpus uteri, Cervix,

cole (:a) ® (¢ (d) (B) Corpus uteri, Ovary, Cervix,

A () () @Gv) (i) Breast. |

B) i) @Gi) @G (>Gv) (C) Cervix, Ovary, Corpus uteri,

(©) @G @) aGv) @ Breast.

D) vy O Q) () (D) Corpus uteri, Ovary, Breast,
Cervix.
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28. gﬁh%

(a) TS I F
(b) TARET

(c) e

(d) TR

T
(FRISw
FHTFATE )

@) (b)
A 1 ()
(B) (i) (i)
(v) (i)
(i) (iv)

29. T -1

C @ (b
(A) (i) (i)
(B) (i) (iv)
(©) (iii) (iv)
(D) (iv) (i)

30. Tl -1
(aTRani =)

(a) T
(b) for

(c) e
(d) T

e

@ (b
A G) (i)
(B) (i) (i)
© (i) (i)
@) (v) ()

el - 11
(&)
(i) TemR
(i) =
(iii) ZoFRI-SIRRT
(iv) Tovaremrt

© (@
(1) (iv)
iv) ()
i) ()
0 (i)

el - 11
S
() Sarg (H)/

\3/3@@411 ()

(i) 9R (fF.a.) / =g
(T.HT)2

(iii) = (F.A) — 100

(iv) T IR / 2qaferd
R21ES

© (@
iv) ()
(i) (i)
Q) (i)
(i) ()

e - 11
(VITEEeIT T JIE3TT)
(i) v ferg-st
(il) Yo\ G FR I

U

(iii) STer T | Weh &l
TE g

(iv) foare

(© ()
(v) (i)
(1 (@v)
@iv) ()
(i) (iii)

32.

33.

et - I e - 11
(STST T HT) (35T5)
(a) = (i) e
(b) &t (i) ga

(c) TRTRT T e W (iii) o1
ST
(d) TR IAVFH  (iv) A=
e
@ O (© (@
A () G (id) (@)
B) (i) @ i) (@Qv)
(©) (i) (iv) @) ()
(D) i) (Gv) (@) (i)

et - I el - 11
(FET B

T TZH) ()
(a) T (i) oo F

(3TTEFTR) % HER
(b) TRFRA (i) H5H
(c) g (iii) AT
(d) PR ERT  (iv) e 0T
TR U= FHEAR
&
@ O (© (@

(A) () @) @) @(Qv)
B) @(v) @) (i) ()

(©) Gi) @Gv) G (1)
D) Gv) @) (@) (i)

TRAT Afeetel § IR & fafae ar §
B ATt haR T STRIET ShH i AT 2
(A)  IHSME, T, T, &=

(B) T, e, Ter, T

(C) i, e, THIvHE, T

(D) T, e, T, War
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34.

35.

36.

Identify correct descending order of
the food items according to their
caloric value.

(A) Cow Milk, Banana, Whole
Wheat, Soya bean.
(B) Soya bean, Whole Wheat,

Banana, Cow Milk.

(C) Banana, Soya bean, Cow Milk,
Whole Wheat.

(D) Whole Wheat, Banana, Cow
Milk, Soya bean.

Identify the correct sequence of
purification of water by Rapid sand
filter method.

(A) Rapid mixing,
Flocculation, Sedimentation.

Coagulation,

(B) Coagulation, Flocculation,

Sedimentation, Rapid mixing.

(C) Coagulation,
Flocculation, Sedimentation.

Rapid mixing,

(D) Sedimentation,
Rapid mixing, Flocculation.

Coagulation,

Identify in order

according to the iron content of the

descending

food items.

(A) Jaggery, Amaranth leaves;
Lentil, Milk.

(B) Jaggery, Amaranth leaves,
Milk, Lentil.

(C) Amaranth leaves, Jaggery,
Lentil, Milk.

(D) Amaranth  leaves, Lentil,

Jaggery, Milk.
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37.

38.

39.

Identify ascending order of energy

expenditure  for various daily
activities.
(A) Office work, Driving,

Swimming, Cycling.

(B) Driving, Office work, Cycling,
Swimming.

(C) Office work, Driving, Cycling,
Swimming.

(D) Driving, Office
Swimming, Cycling.

work,

Identify correct ascending order of
incubation period of acute viral
infections.

(A) Influenza, Measles,
Chickenpox, German
Measles.

(B) Influenza,
Measles, Chickenpox.

(C) German Measles,
Measles, Chickenpox.

German Measles,

Influenza,

(D) Chickenpox, Measles,
Influenza, German Measles.

Identify the correct sequence of

occurrence.

(A) Disease -  Disability -
Impairment — Handicap.

(B) Disease -
Handicap — Disability.

Impairment -
(C) Handicap -  Disease —
Impairment — Disability.

(D) Disease -

Disability — Handicap.

Impairment -



34. Tfafea @@ 9wt w5t ST Sel)-

35.

36.

T % STIAN STeRIE! hH W [l :

(A) T 61 ¥, e, Wil 71, W=
(B) WS, T 7, Hefl, T 1 36
(C) eI, WA, T 1 3, |G ¢

(D) TS T, e, T I o, FTe

e e freex & fafir =on =t w7 °
fefEm |

(A) Yas  fafemr,  wwERE,

(B) PIUTCATH, FeATRIeHeH, HEHITH,
tre ffera
(C) HITIeeM, oz fofedm,

(D) WSHRHE, HUERHE, U

frfefiaa @ uemet & 37 Hisg e
! T o TARET SHH H e il

(A) TS, IRY, wifed, 3¢
(B) T, Y, T, Tifeet
(C) 3T, TE, wifedt, 39

(D) 3T, Wfeet, TE, 3

37. USRI & FRAfNEd a3 He

38.

39.
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! U & ARIET 5hH T eI HiTeU

(A) HEEN FF, TET TAHT, TR/,
ISR T

(B) T®T T, HEENR P,

Hl$(I\°I’)C'1 AT, dXHl

(C) wHEER HE, drd =,

Hl$(I\°I’)C'1 AT, dXHl

(D) @ AT, FEAA i, O,
ATEfehet T

et fermuyST=r fomupst=r I o STferra
T I STRET ShH T A hifoTq

(A)  TUUST, WHT, DI AT, STHA
T

(B) 3UIUST, STHA TERT, T, Bt
T

(C) ST ST, THUST, W, Bt
AT

(D) B U, T, THIUST, STHA
T

Tl gemaT o et A i YgEn-T

(A) TedrT - femfaferd — $oeRye —
gl

(B) fedis - domwe — dferw -
fegufaferet

(C) 2%y - fedisr - wWde —
fewfaferdt

(D) fedlsT — doawde — fewufaferdt —
gl



40.

41.

42,

Given below (40 to 46) consists of
the two paired statements, statement
A (Assertion) and
(Reason) R .

Statement

Select appropriate answer using the
code given below as follows :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the
explanation.

(C©) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

correct

Assertion (A) :
patients with better prognosis

Triage is treating

on priority.

Reason (R)
colour disc are given high

Patients with red

priority for treatment.

Assertion (A) :
do not end abruptly and ‘tail

Cholera epidemics

out’ over a longish period.

Reason (R)
have a high potential to spread

Cholera epidemics

fast and cause mortality.

Assertion (A): Infected cattles
excrete gram +ve Brucelles
organisms in milk.

Reason (R) : Raw milk

consumption causes

Brucellosis in man.

43.

44.

45.

46.
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Assertion (A) :
pressure refers to recording the

Tracking of blood

blood pressure round the clock
in children.

Reason (R)
included in primary prevention

Population strategy
of blood pressure involves
non-pharmaco therapeutic

interventions.

Assertion (A): Lepromin test is a
useful tool for evaluating the

immune status (CMI) of
Leprosy patients.
Reason (R) It is an important

epidemiological tool and not a
diagnostic test.

Assertion (A) :
administer measles vaccine to

Health workers can

six to eight months old

malnourished children.

Reason (R)
children are at high risk of

Malnourished

complications from natural
measles.
Assertion (A): Herd immunity

implies level of resistance of a

community to a particular
disease.
Reason (R) Herd immunity

protects the newborn in case of
Neonatal Tetanus.



40.

41.

42,

T g w3 W owEE (A)
(ATTeReAT) T4 FF (R) (FROT) | A
TEIOTT el T SUANT A gU Tel SR
T : (Q. No. 40 ¥ Q. No. 46)

(A) (A) @1 (R) ST T&l & a1 (R),
(A) F el ATATE |

(B) (A) T (R) 1 Wl &, W (R),
(A) o Tel AT TR € |

(C) (A)WEE, R (R) T & |
(D) (A) TEAE, W (R) W& |

HAT(A) : 59 AT & S 2=
HOET 37T & 3k SUUR i
SR 7 ol ST el € |

HROT (R) : 4 AT 16T T1 6 9=t
TS & 37 SRiael & STt & |

HAT(A) : & 6 TEER UhH-9-Uh
U &l B € | 98 o gHd
qh Fordl @l & IR dR-eR
T B € |

HROT(R) : &7 i HETHRI g el 4
herdl & TR THH AT ot Sk
T € |

FHAT(A) : TohiAd ToRN ¥ A UMW
UiTSTied SR i) Bied € |
HRUT(R) : 9T 3T FHedl 0 Ha

FE A AT Sheed SR |
T BT E |

43.

44.

45.

46.

FAT(A) : Tedl § AT IR
1 31 ¥ T Bl dear =5
T |

HROT (R) : AT T URIE AhAH
T IOHIT | goT & AT 3=
U MHAE |

HUT(A) : FTAT & TS H I
TRy e T Jodishd A &+
feru e 2% S & |

HROT (R) : WA = Th
SR < €, FRHER
St e |

FAT(A) : . T S AG TF H W
TSl FUIMA Soal Sl WRF-HHT
T T SRl AT Hehl § |

HROT(R) : FUMNT S=ai Sl UTHidh
O B T AT GaRr UeT gl
g

HUT(A) : FOS T U T 3 §
fodt ST o Ufd Uh WHRTE
UTRIEhdT o1 & |

HROT (R) : YOS I UiaRrershal Aasia
o1 &t e ZeR | ST
i
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Read the passage below and answer
the four questions based on your
understanding of the passage.
(Question Nos. 47 to 50) :

Rehabilitation is the process of
enabling an impaired person to
renew old skills or to acquire new
skills that will qualify him/her to live
in society to the extent that his
particular condition and
circumstances will allow. Social
skills training, vocational guidance
and sheltered workshops for chronic
mental patients are part of
rehabilitation. The crucial aspects of
rehabilitation deal with bringing out
the reserves and strengths in each
individual in  one’s  peculiar
psychosocial environment for a
fuller life, not withstanding the loss
that was suffered. The process of
psychiatric rehabilitation is not so
much of restoration, as one of
habitation and achievement of a
status in a society minimizing the
individual’s deficits and capitalising
on his/her residual functions. The
manner in which the family responds
to a mental illness may also
determine the extent of his
consequent disability.

47.

48.

(i) Adverse personal reactions,
like lack of self-confidence,
poor self-esteem, low
motivation, worthlessness and
helplessness.

(ii1)) Impairment due to symptoms
like hallucinations, delusions
and thought disorders which
distort reality testing.

Rehabilitation does not include one
of the following :

(A) Social skill training

(B) Vocational guidance

(C) Sheltered workshops

(D) Allow to live in the society

Crucial aspect of rehabilitation is

(A) ability to acquire qualifications

(B) psychological environment

(C) bringing out the reserves and
strengths

(D) compensation for the loss

Rehabilitation is more of an 49.  Social disablement is
approach rather than a technique (A) Hostile family environment
which encourages the patient to live (B) Limitations to live and
and function to the full extent of his )
capabilities despite his limitations. function
These limitations are usually known (C) Lack of vocational and social
by the term “social disablement”. skills
Social disablement accompanying )
psychiatric disorders is likely to be (D) No sense of belongingness.
due to the interaction of multiple
causes. The following are the three 50. Adverse personal reactions include

chief causes of social disablement.

(1)  Social disadvantage, such as
hostile family environment,
lack of vocational and social
skills, social stigma, poverty,
unemployment, homelessness
or no sense of belongingness.

all except

(A) Poor restoration of health.
(B) Lack of self-confidence.
(C) Poor self-esteem.

(D) Low motivation.
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fr=ferfiae e ufeu AR SHH THET &
YR W M f§U M0 =R WA & IR
T (9 . 47 9 50) |

TS Ueh U Uik € e §RT
I IFAHY ek 3T T hIeTeA T
N A 3R AT v AT A &+
AT AT € | 37 IR o 3MER T 6
=Afek srot farf ik aitfeafa o e
TS § S R Ghar € |
[T ShIFTeAT ohT WISTETOT, SATeIash
AUIEYH, /A FEARIET % fouw e
HIILAT hl LT GG & & 3 & |
AT T UF HEw@YUl Uee] I8 § 6
e oY, T FAIGTEISE gE H,
o e vifedEl AR GHEETeT
oA B T I TR e, A1 a8 Teh
Ul St ST T — el & 39 S off effe
TE & | FAfYEiehedid YA ST Ut
ST R - el & e 39 |t §
TS WH AT 3R 3 31919
T FH-G-FHH HET qAT IHH! AT =
i § 9 SSATE |

AT WE A § U 3UH €,
Tl TEl — UHT UMY S I o,
AU HHIS &k S, AU 9guT
e % SIET S 3R HIH FA h
R AT & | ST et b1 QHEISTh
STV Ts3Taelt gRT 9T fohar ST
£ | WHISTh e & G- S
TE-E & WA TR 3@ o 1 &
& h BN I BHAT-UIARHAT 1 ooTe
YURTER § | T KU U i e R
HIHTISTeR ST o oIt STREE €

() dse &, S e
e aiasT, =edas qar
[T IRTA sl HHT, TSR
3TIY T TS |

47.

48.

49.

50.

(i) Uaeper Tt widfkam, <@
AT oht SHHY, TTTH oht
FHE, MR H HAH TR,
TIReIeha, ST |

(il) T % PR &fd, sS4 T,
¥ifq 3 Jemier fopR S gend
TRIETT i FIhd A & |

fefefad & @ %9 91 garg & Sidd
TET 377 ?

(A) IS ShISTeT UT9TeToT

(B) =T FeeE

(C) qRferet ey

(D) THNST H @ o7

Qe B T TeT &

(A) 3TEATE ST A Y AT

(B) RIS URATT

(C) dfad emarel IR wifeaal ol
I hIAT

(D) &I ot eafegfe

HIHTISTeR STQTeRel &
(A) TicTEReT AT IRERT
(B) Y& 3R FY i § STST FHETd

(C) TSI T AR hivre i
Ei)

(D) 31U S T BT 3T

frefefed § @ &9 91 udea e
UfcfshaTat o ST et 31T 2

(A) 3T YA TR-EATY

(B) STCHTORATT St HHT

(C)  3uaTe TE=

(D) TROT o7 1 &R
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